

|                                  |            |                        | Vendor Ranking         |             | Page 1 of 1                    |
|----------------------------------|------------|------------------------|------------------------|-------------|--------------------------------|
| Letting:                         | 02230614   | June 14, 2023 11:00 AM | Call Order: 001        | Contract:   | E21F0                          |
| District:                        | District 2 |                        | Counties: DIST/ST-WIDE | Fed Aid No  | : N/A                          |
| Contract Time:<br>Contract Desc: |            |                        |                        | Project(s): | 42478125223 (*)<br>42478125224 |

| Ran | k Vendor                       | Bid Type   | Bid Status      | Total Bid      | Percent Of<br>Low Bid |
|-----|--------------------------------|------------|-----------------|----------------|-----------------------|
| 1   | MIDWESTERN CONSTRUCTION, INC   | Responsive | Winning bid     | \$1,011,300.00 | 100.00%               |
| 2   | OASIS LANDSCAPE SERVICES, INC. | Responsive | Non-Winning Bid | \$1,726,550.00 | 170.73%               |

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



#### **Tabulation of Bids**

Page 1 of 10

| Letting:       | 02230614      | June 14, 2023 | Call Order: | 001          | Contract:   | E21F0           |
|----------------|---------------|---------------|-------------|--------------|-------------|-----------------|
| District:      | District 2    |               | Counties:   | DIST/ST-WIDE | Fed Aid No: | N/A             |
| Contract Time: | 1096 CALEND   | DAR DAYS      |             |              | Project(s): | 42478125223 (*) |
| Contract Descr | Pushbutton La | ndscape       |             |              |             | 42478125224     |

#### Contract Descr: Pushbutton Landscape

The work under this Contract consists of landscape activities including but not limited to: plant installation, plant establishment, fertilizing, herbicide, pruning, temporary irrigation, vegetative control and miscellaneous landscape services. This will be a work document driven contract. The quantities shown in the bid are estimated quantities. The quantities shown on the Bid Price Proposal are approximate and only represent estimated planned requirements based on historical or specific project needs. The Department does not guarantee any maximum or minimum guantity, any range of quantities, or the exact quantities shown for each bid item. The Department's estimated quantities and the Contractor's bid price will be used to calculate a total bid amount. This total bid amount will then be used to determine the low bidder; however, actual payment under the awarded contract will be based on actual quantities completed. For this Contract in which specific sites are not identified at the time of letting, the Engineer will issue a Work Document. Work Documents will identify the location, description, amount of work to be accomplished, and the number of calendar days to complete the work. EXPERIENCE IN LANDSCAPING (FORM 850-070-09) MUST BE COMPLETED AND SUBMITTED WITH THE BID. MAXIMUM LIMITING AMOUNT - \$600.000.00. BID EXPRESS MANDATORY.

The budgetary ceiling for this contract shall be Six Hundred Thousand Dollars (\$600,000.00) over the three (3) year term of the contract.

SPECIAL BID REQUIREMENT: Submit with the bid, a letter of reference from one (1) company or government agency that indicates the company names in the bid is engaged in or has satisfactorily completed a contract with similar work and budget amount within the last (3) three years as the prime contractor on a Landscape Contract. Submit with the bid, three (3) letters of endorsements with similar work and budget amount from three (3) separate Florida registered Landscape Architects.

| Line No / Item ID Alternate Item Description  | Quantity<br>Units | (1) MIDW<br>CONSTRUC |               | (2) OASIS LA<br>SERVICE |            |            |            |
|---|-------------------|----------------------|---------------|-------------------------|------------|------------|------------|
| () indicates item is bid as Lump Sum  |                   | Unit Price           | Ext Amount    | Unit Price              | Ext Amount | Unit Price | Ext Amount |
| SECTION: 0001 (M  | ISCELLANE         | OUS ROUTINE MA       | AINTENANCE (M | Н                       |            |            |            |
| 0005 0110 2 1<br>CLEARING & GRUBBING (PUSH<br>BUTTON CONTRACT)                      | 1.000<br>AC       | 3,250.00000          | 3,250.00      | 17,500.00000            | 17,500.00  |            |            |
| 0010 0570 1 2<br>PERFORMANCE TURF, SOD  | 300.000<br>SY     | 6.00000              | 1,800.00      | 8.00000                 | 2,400.00   |            |            |
| 0015 0580 4122<br>LANDSCAPE- PALMS, PINDO PALM<br>BUTIA CAPITATA, 5-8', CLEAR TRUNK | 20.000<br>EA      | 850.00000            | 17,000.00     | 4,500.00000             | 90,000.00  |            |            |



### Tabulation of Bids

Page 2 of 10

| Letting: 02230614  | June 14, 2023         | Cal                   | l Order: 001  |                         | Contract:  | E21F0      |            |
|--|-----------------------|-----------------------|---------------|-------------------------|------------|------------|------------|
| Line No / Item ID Alterna Item Description   | ite Quantity<br>Units | (1) MIDWE<br>CONSTRUC |               | (2) OASIS LA<br>SERVICE |            |            |            |
| () indicates item is bid as Lump Sun   | n                     | Unit Price            | Ext Amount    | Unit Price              | Ext Amount | Unit Price | Ext Amount |
| SECTION: 0001  | (MISCELLANE           | OUS ROUTINE MA        | INTENANCE (MI | ł                       |            |            |            |
| 0020 0580 4132<br>LANDSCAPE- PALMS, EUROPEAN<br>PALM CHAMAEROPS HUMILIS, 4-<br>OVERALL HEIGHT                    |                       | 1,300.00000           | 13,000.00     | 5,000.00000             | 50,000.00  |            |            |
| 0025 0580 4215<br>LANDSCAPE- PALMS, MEDJOOL<br>PALM PHOENIX DACTYLIFERA<br>'MEDJOOL', 16-20', CLEAR TRUNK        |                       | 4,500.00000           | 45,000.00     | 12,500.00000            | 125,000.00 |            |            |
| 0030 0580 4235<br>LANDSCAPE- PALMS, WILD DATE<br>PALM/SYLVESTER PHOENIX<br>SYLVESTRIS, 16' AND OVER CLE<br>TRUNK |                       | 6,080.00000           | 60,800.00     | 7,000.00000             | 70,000.00  |            |            |
| 0035 0580 4345<br>LANDSCAPE- PALMS, SABAL<br>PALMETTO SABAL PALMETTO, 10<br>CLEAR TRUNK                          | 60.000<br>EA<br>6-20' | 850.00000             | 51,000.00     | 1,250.00000             | 75,000.00  |            |            |
| 0040 0580 4445<br>LANDSCAPE- PALMS, WASHINGT<br>PALM WASHINGTON ROBUSTA, 1<br>CLEAR TRUNK                        |                       | 1,200.00000           | 12,000.00     | 1,500.00000             | 15,000.00  |            |            |
| 0045 0580 4462<br>LANDSCAPE- PALMS, EUROPEAN<br>PALM MULTI 3+ STEM, CHAMAEF<br>HUMILIS, 4-6' OVERALL HEIGHT      |                       | 1,600.00000           | 32,000.00     | 1,000.00000             | 20,000.00  |            |            |
| 0050 0580 5 23<br>LANDSCAPE- TREES, DISTRICT<br>SPECIFIED FROM PROJECT LIST<br>CONTAINER GROWN 30 GALLON         |                       | 725.00000             | 72,500.00     | 750.00000               | 75,000.00  |            |            |



## Tabulation of Bids

Page 3 of 10

| Letting:  | 022306   | 614 Jun       | e 14, 2023        | Cal                   | l Order: 001  |                         | Contract:  | E21F0      |            |
|-----------|--|---------------|-------------------|-----------------------|---------------|-------------------------|------------|------------|------------|
|           | o / Item ID<br>escription                            | Alternate     | Quantity<br>Units | (1) MIDWE<br>CONSTRUC |               | (2) OASIS LA<br>SERVICE |            |            |            |
| () indica | ates item is bid as Lu                               | ump Sum       |                   | Unit Price            | Ext Amount    | Unit Price              | Ext Amount | Unit Price | Ext Amount |
| :         | SECTION: 0001  | 1 (MI         | SCELLANE          | OUS ROUTINE MA        | INTENANCE (MF | ł                       |            |            |            |
| 0055 0    | 580 525  |               | 40.000            | 1,050.00000           | 42,000.00     | 1,500.00000             | 60,000.00  |            |            |
| SPECIFIEI | PE- TREES, DIST<br>D FROM PROJEC<br>ER GROWN 65 G    | CT LIST,      | EA                |                       |               |                         |            |            |            |
| 0060 0    | 580 526  |               | 30.000            | 1,650.00000           | 49,500.00     | 2,200.00000             | 66,000.00  |            |            |
| SPECIFIEI | PE- TREES, DIST<br>D FROM PROJEC<br>ER GROWN 100 (   | CT LIST,      | EA                |                       |               |                         |            |            |            |
| 0065 0    | 580 541  |               | 200.000           | 725.00000             | 145,000.00    | 800.00000               | 160,000.00 |            |            |
| SPECIFIEI | .PE- TREES, DIST<br>D FROM PROJEC<br>DR BALL & BURL/ | CT LIST, FIEL | EA<br>.D          |                       |               |                         |            |            |            |
|           | 580 5 42   |               | 100.000           | 950.00000             | 95,000.00     | 900.00000               | 90,000.00  |            |            |
| SPECIFIEI | .PE- TREES, DIST<br>D FROM PROJEC<br>DR BALL & BURL/ | CT LIST, FIEL | .D                |                       |               |                         |            |            |            |
| 0075 0    | 580 544  |               | 40.000            | 1,650.00000           | 66,000.00     | 1,200.00000             | 48,000.00  |            |            |
| SPECIFIEI | .PE- TREES, DIST<br>D FROM PROJEC<br>DR BALL & BURL/ | CT LIST, FIEL | EA<br>.D          |                       |               |                         |            |            |            |
| 0080 0    | 580 6402   |               | 40.000            | 185.00000             | 7,400.00      | 200.00000               | 8,000.00   |            |            |
|           | PE- LARGE SHR<br>D FROM PROJEC                       |               |                   |                       |               |                         |            |            |            |
|           | 580 6404   |               | 40.000            | 250.00000             | 10,000.00     | 950.00000               | 38,000.00  |            |            |
|           | PE- LARGE SHR<br>D FROM PROJEC                       |               |                   |                       |               |                         |            |            |            |



### Tabulation of Bids

Page 4 of 10

| Letting: 0223   | 30614 June | 9 14, 2023        | Cal                   | <b>Order:</b> 001 |                         | Contract:  | E21F0      |            |
|---|------------|-------------------|-----------------------|-------------------|-------------------------|------------|------------|------------|
| Line No / Item ID<br>Item Description   | Alternate  | Quantity<br>Units | (1) MIDWE<br>CONSTRUC |                   | (2) OASIS LA<br>SERVICE |            |            |            |
| ( ) indicates item is bid a   | s Lump Sum |                   | Unit Price            | Ext Amount        | Unit Price              | Ext Amount | Unit Price | Ext Amount |
| SECTION: 0  | 001 (MIS   | CELLANE           | OUS ROUTINE MA        | INTENANCE (MF     | 1                       |            |            |            |
| 0090 0580 6405<br>LANDSCAPE- LARGE SI<br>SPECIFIED FROM PRO.<br>GA              |            |                   | 300.00000             | 6,000.00          | 1,000.00000             | 20,000.00  |            |            |
| 0095 0580 7 21<br>LANDSCAPE- GROUND<br>DISTRICT SPECIFIED F<br>LIST, 1 GALLON   |            | 100.000<br>EA     | 35.00000              | 3,500.00          | 35.00000                | 3,500.00   |            |            |
| 0100 0580 7 23<br>LANDSCAPE- GROUND<br>DISTRICT SPECIFIED F<br>LIST, 3 GALLON   |            | 50.000<br>EA      | 55.00000              | 2,750.00          | 60.00000                | 3,000.00   |            |            |
| 0105 0580 7 41<br>LANDSCAPE- ORNAME<br>DISTRICT SPECIFIED F<br>LIST, 1 GALLON   |            | 100.000<br>EA     | 35.00000              | 3,500.00          | 35.00000                | 3,500.00   |            |            |
| 0110 0580 7 43<br>LANDSCAPE- ORNAME<br>DISTRICT SPECIFIED F<br>LIST, 3 GALLON   |            | 100.000<br>EA     | 55.00000              | 5,500.00          | 50.00000                | 5,000.00   |            |            |
| 0115 0580 7 67<br>LANDSCAPE- SMALL SH<br>SPECIFIED FROM PRO<br>GALLON           |            | 20.000<br>EA      | 105.00000             | 2,100.00          | 85.00000                | 1,700.00   |            |            |
| 0120 0580 8 1<br>LANDSCAPE- PALM<br>PRUNING/TRIMMING, M<br>THAN 14' OF CLEAR TR |            | 100.000<br>EA     | 37.00000              | 3,700.00          | 125.00000               | 12,500.00  |            |            |



## **Tabulation of Bids**

Page 5 of 10

| Letting: 02230614 June  | 14, 2023          | Cal                   | l Order: 001  |                         | Contract:  | E21F0      |            |
|---|-------------------|-----------------------|---------------|-------------------------|------------|------------|------------|
| Line No / Item ID Alternate (<br>Item Description                                 | Quantity<br>Units | (1) MIDWE<br>CONSTRUC |               | (2) OASIS LA<br>SERVICE |            |            |            |
| ( ) indicates item is bid as Lump Sum   |                   | Unit Price            | Ext Amount    | Unit Price              | Ext Amount | Unit Price | Ext Amount |
| SECTION: 0001 (MIS  | CELLANE           | OUS ROUTINE MA        | INTENANCE (MI | 1                       |            |            |            |
| 0125 0580 8 2   | 100.000           | 38.50000              | 3,850.00      | 250.00000               | 25,000.00  |            |            |
| LANDSCAPE- PALM<br>PRUNING/TRIMMING, MANUAL, 14' AND<br>GEATER OF CLEAR TRUNK     | EA                |                       |               |                         |            |            |            |
| 0130 0580 8 3   | 40.000            | 38.50000              | 1,540.00      | 150.00000               | 6,000.00   |            |            |
| LANDSCAPE- PALM<br>PRUNING/TRIMMING, MECHANICAL,<br>LESS THAN 14' OF CLEAR TRUNK  | EA                |                       |               |                         |            |            |            |
| 0135 0580 8 4   | 20.000            | 38.50000              | 770.00        | 275.00000               | 5,500.00   |            |            |
| LANDSCAPE- PALM<br>PRUNING/TRIMMING, MECHANICAL, 14'<br>AND GEATER OF CLEAR TRUNK | EA                |                       |               |                         |            |            |            |
| 0140 0580 8 6   | 100.000           | 38.50000              | 3,850.00      | 125.00000               | 12,500.00  |            |            |
| LANDSCAPE- STAKING AND GUYING<br>EXISTING PALM                                    | EA                |                       |               |                         |            |            |            |
| 0145 0580 8 10  | 40.000            | 85.00000              | 3,400.00      | 600.00000               | 24,000.00  |            |            |
| LANDSCAPE- TREE<br>PRUNING/TRIMMING, MANUAL, 1 TO 8"<br>DBH                       | EA                |                       |               |                         |            |            |            |
| 0150 0580 8 11  | 20.000            | 150.00000             | 3,000.00      | 2,500.00000             | 50,000.00  |            |            |
| LANDSCAPE- TREE<br>PRUNING/TRIMMING, MANUAL, 8 TO<br>24" DBH                      | EA                |                       |               |                         |            |            |            |
| 0155 0580 8 12  | 10.000            | 175.00000             | 1,750.00      | 3,500.00000             | 35,000.00  |            |            |
| LANDSCAPE- TREE<br>PRUNING/TRIMMING, MANUAL, 24" AND<br>GREATER DBH               | EA                |                       |               |                         |            |            |            |



## **Tabulation of Bids**

Page 6 of 10

| Letting: 02230614   | June 14, 2023           | Cal                   | I Order: 001  |                         | Contract:  | E21F0      |            |
|---|-------------------------|-----------------------|---------------|-------------------------|------------|------------|------------|
| Line No / Item ID Alternat  | te Quantity<br>Units    | (1) MIDWE<br>CONSTRUC |               | (2) OASIS LA<br>SERVICE |            |            |            |
| ( ) indicates item is bid as Lump Sum   |                         | Unit Price            | Ext Amount    | Unit Price              | Ext Amount | Unit Price | Ext Amount |
| SECTION: 0001   | (MISCELLANE             | OUS ROUTINE MA        | INTENANCE (MI | 1                       |            |            |            |
| 0160 0580 8 13<br>LANDSCAPE- TREE<br>PRUNING/TRIMMING, MECHANICA<br>TO 8" DBH                 | 10.000<br>EA<br>AL, 1   | 85.00000              | 850.00        | 600.00000               | 6,000.00   |            |            |
| 0165 0580 8 14<br>LANDSCAPE- TREE<br>PRUNING/TRIMMING, MECHANICA<br>TO 24" DBH                | 10.000<br>EA<br>AL, 8   | 150.00000             | 1,500.00      | 2,750.00000             | 27,500.00  |            |            |
| 0170 0580 8 15<br>LANDSCAPE- TREE<br>PRUNING/TRIMMING, MECHANICA<br>AND GREATER DBH           | 10.000<br>EA<br>AL, 24" | 175.00000             | 1,750.00      | 5,000.00000             | 50,000.00  |            |            |
| 0175 0580 8 31<br>LANDSCAPE- SHRUB,<br>PRUNING/TRIMMING BED, 3 TO 6'<br>AVERAGE HEIGHT        | 20.000<br>SY            | 15.00000              | 300.00        | 135.00000               | 2,700.00   |            |            |
| 0180 0580 8 32<br>LANDSCAPE- SHRUB,<br>PRUNING/TRIMMING BED, 6' AND<br>GREATER AVERAGE HEIGHT | 20.000<br>SY            | 22.00000              | 440.00        | 135.00000               | 2,700.00   |            |            |
| 0185 0580 8 40<br>LANDSCAPE- SHRUB,<br>PRUNING/TRIMMING INDIVIDUAL<br>PLANT, LESS THAN 3'     | 20.000<br>EA            | 10.00000              | 200.00        | 75.00000                | 1,500.00   |            |            |
| 0190 0580 8 41<br>LANDSCAPE- SHRUB,<br>PRUNING/TRIMMING INDIVIDUAL<br>PLANT, 3' TO <6' HEIGHT | 20.000<br>EA            | 16.00000              | 320.00        | 90.00000                | 1,800.00   |            |            |



## **Tabulation of Bids**

Page 7 of 10

| Letting: 02230614   | June 14, 2023        | Cal                   | I Order: 001   |                         | Contract:  | E21F0      |            |
|---|----------------------|-----------------------|----------------|-------------------------|------------|------------|------------|
| Line No / Item ID Alterna Item Description  | te Quantity<br>Units | (1) MIDWI<br>CONSTRUC |                | (2) OASIS LA<br>SERVICE |            |            |            |
| ( ) indicates item is bid as Lump Sum   | 1                    | Unit Price            | Ext Amount     | Unit Price              | Ext Amount | Unit Price | Ext Amount |
| SECTION: 0001   | (MISCELLANE          | OUS ROUTINE MA        | AINTENANCE (MI | 1                       |            |            |            |
| 0195 0580 8 42<br>LANDSCAPE- SHRUB,<br>PRUNING/TRIMMING INDIVIDUAL<br>PLANT, 6' TO 10' HEIGHT | 20.000<br>EA         | 24.00000              | 480.00         | 150.00000               | 3,000.00   |            |            |
| 0200 0580 9 1<br>LANDSCAPE- PALM, COMPLETE<br>REMOVAL, LESS THAN 14' OF CLI<br>TRUNK          | 20.000<br>EA<br>EAR  | 625.00000             | 12,500.00      | 850.00000               | 17,000.00  |            |            |
| 0205 0580 9 2<br>LANDSCAPE- PALM, COMPLETE<br>REMOVAL, 14' AND GREATER OF<br>CLEAR TRUNK      | 20.000<br>EA         | 625.00000             | 12,500.00      | 3,500.00000             | 70,000.00  |            |            |
| 0210 0580 9 10<br>LANDSCAPE- TREE, COMPLETE<br>REMOVAL, 1" TO 8" DBH,                         | 40.000<br>EA         | 525.00000             | 21,000.00      | 850.00000               | 34,000.00  |            |            |
| 0215 0580 9 11<br>LANDSCAPE- TREE, COMPLETE<br>REMOVAL, 8 TO 24" DBH,                         | 30.000<br>EA         | 650.00000             | 19,500.00      | 1,750.00000             | 52,500.00  |            |            |
| 0220 0580 9 12<br>LANDSCAPE- TREE, COMPLETE<br>REMOVAL, 24" AND GREATER" DI                   | 10.000<br>EA<br>BH,  | 1,250.00000           | 12,500.00      | 4,500.00000             | 45,000.00  |            |            |
| 0225 0580 9 30<br>LANDSCAPE- STUMP REMOVAL,<br>THAN 4"  | 40.000<br>LESS EA    | 225.00000             | 9,000.00       | 450.00000               | 18,000.00  |            |            |
| 0230 0580 9 31<br>LANDSCAPE- STUMP REMOVAL, 4   | 20.000<br>4-24" EA   | 500.00000             | 10,000.00      | 2,600.00000             | 52,000.00  |            |            |



# Tabulation of Bids

Page 8 of 10

| Letting: 02230614 Ju   | ne 14, 2023       | Cal                  | I Order: 001  |                         | Contract:  | E21F0      |            |
|--|-------------------|----------------------|---------------|-------------------------|------------|------------|------------|
| Line No / Item ID Alternate Item Description                         | Quantity<br>Units | (1) MIDW<br>CONSTRUC |               | (2) OASIS LA<br>SERVICE |            |            |            |
| ( ) indicates item is bid as Lump Sum                                |                   | Unit Price           | Ext Amount    | Unit Price              | Ext Amount | Unit Price | Ext Amount |
| SECTION: 0001 (M   | IISCELLANE        | OUS ROUTINE MA       | INTENANCE (MH | I                       |            |            |            |
| 0235 0580 9 32<br>LANDSCAPE- STUMP REMOVAL, 24-4                     | 10.000<br>8" EA   | 950.00000            | 9,500.00      | 6,000.00000             | 60,000.00  |            |            |
| 0240 0700 1 11<br>SINGLE POST SIGN, F&I GROUND<br>MOUNT, UP TO 12 SF | 20.000<br>AS      | 1,550.00000          | 31,000.00     | 850.00000               | 17,000.00  |            |            |
| 0245 0700 1 40<br>SINGLE POST SIGN, INSTALL                          | 20.000<br>AS      | 850.00000            | 17,000.00     | 500.00000               | 10,000.00  |            |            |
| 0250 0700 1 50<br>SINGLE POST SIGN, RELOCATE                         | 20.000<br>AS      | 1,250.00000          | 25,000.00     | 600.00000               | 12,000.00  |            |            |
| 0255 0700 1 60<br>SINGLE POST SIGN, REMOVE                           | 20.000<br>AS      | 625.00000            | 12,500.00     | 125.00000               | 2,500.00   |            |            |
| 0260 E107 1 1<br>LITTER REMOVAL                                      | 200.000<br>AC     | 150.00000            | 30,000.00     | 75.00000                | 15,000.00  |            |            |
| 0265 E107 2 1<br>MOWING (LARGE MACHINE)                              | 10.000<br>AC      | 500.00000            | 5,000.00      | 350.00000               | 3,500.00   |            |            |
| 0270 E107 2 3<br>MOWING (INTERMEDIATE MACHINE)                       | 10.000<br>AC      | 500.00000            | 5,000.00      | 450.00000               | 4,500.00   |            |            |
| 0275 E107 2 4<br>MOWING (SMALL MACHINE)                              | 10.000<br>AC      | 500.00000            | 5,000.00      | 125.00000               | 1,250.00   |            |            |



| Tabulation | of Bids |
|------------|---------|
|------------|---------|

Page 9 of 10

| Letting:   | 02230614 | June 14, 2023        | Ca             | all Order: 001        |            | Contract:            | E21F0      |            |  |
|--|----------|----------------------|----------------|-----------------------|------------|----------------------|------------|------------|--|
| Line No / Iter<br>Item Descrip                                 |          | te Quantity<br>Units | · · /          | VESTERN<br>CTION, INC | · · ·      | ANDSCAPE<br>ES, INC. |            |            |  |
| () indicates item is bid as Lump Sum                           |          |                      | Unit Price     | Ext Amount            | Unit Price | Ext Amount           | Unit Price | Ext Amount |  |
| SECTION: 0001 (MISCELLANEOUS ROUTINE MAINTENANCE (MH           |          |                      |                |                       |            |                      |            |            |  |
| 0001 MISCELLANEOUS Section Totals:<br>ROUTINE MAINTENANCE (MH) |          |                      | \$1,011,300.00 |                       |            | \$1,726,550.00       |            |            |  |

**Contract Grand Totals:** 

\$1,011,300.00

\$1,726,550.00



## **Tabulation of Bids**

Page 10 of 10

| Letting: | 02230614 | June 14, 2023 | Call Order: 001                       | Contract:           | E21F0 |
|----------|----------|---------------|---------------------------------------|---------------------|-------|
|          |          | NOTE: Failure | to file a protest within the time pro | escribed in section |       |

120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.